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4 | 6301 | 35473 | 1680 479200 330800 810000

1| BXmW 41 v 2000 62294 Tkskkkkkx23670 64032 4skkkkkokx] 058 138skokokkx3 1 2000 BT A
2 | XER 5 v 1000 62294 Tkskokskokkxk25121 64212 Tkkkkkrckx0817 131 sokskokokk 82 1000 B F A
3 | GRE 30 J 1000 622947 %skkkx%x01016 6421 2 Twkksokkok k0818 139%0kk3%20 1000 BT A
4 | FEHF 25 v 1000 622947 Hkokokokkx26988 64212 THcksokskorckk0816 18Tsokobokonk38 1000 BT A
5 | BAeR 7 v 1000 622947 Hksokskorkx25 386 64212 THksokskorckk0816 181 sotokkok3 1 1000 B FAR
6 £ T 20 N 1000 62294 Takdokxkxx11908 64212 THkkkkxx%083X 1874kkkkx57 1000 BEFAH
7 | BEF 4 v 1000 62294 7*scksokickk 1 823 1 64212 Tkoksickickx(8 14 1823kkkokx69 1000 B TFA
8 | R 6 v 2000 622947 ¥skkkkx] 7456 6421 27 kkskokokx (8 1 2 173%3k%x%89 2000 B FAR
9 | EXX 32 v 1000 622947 %skkkxkx1 1619 6421 2Txkkskokkokx08 1 1 180skkokkx49 1000 BT
10 | x5 25 v 1000 62294 Tkskokkorkx23399 64212 THrkskikx0839 136kkkkx49 1000 B TFA
11 | X#E¥ 5 v 1000 62294 Tkskokskokkk 1 3391 6421 2Tk k0825 150skskokskk35 1000 B FA
12 | ZEZ 8 v 1000 622947 Hkokskokkx91 324 64212 Tcksokskorokk (0827 136%kkkbS 1000 W& F A
13 | R4 4 J 1000 62294 THkdkxrk] 1 866 6421 2 THkokkkkokk 0832 17 Tskskokkx87 1000 BT A
14 | =X 24 J 1000 62294 T %skkkkkx] 1924 640324 %kkskkkx08 18 176%%k%x%38 1000 BT A
15 | BF% 15 v 1000 622947 ksksokskokckok | 5479 64212 Tacksokkorokk(0828 181 stobokokck()2 1000 BT A
16 | £E4 35 v 2000 622947 Hksokskonkk24876 64212 THcksokskookk(818 181 stk 2000 & F A
17 | =44 4 J 1000 622947 %skkokxkx1 2708 6421 2T xkkkkrck k0820 133%0kkx%85 1000 BT A
18 | £EE4 19 J 2000 62294 Takddnxxx69376 64212 T4kkxkkx0810 18244kkxx39 2000 Bt




19 | G AR 7 v 1100 622947 *3kokkxx*46863 64212 THkk*xk%k%0853 133%kkkk K68 1100 ALt
20 | GE 12 J 2000 62294 T**¥¥¥4%x09814 64212 Tkkx3k¥5kk1011 136%*¥¥4%81 2000 FL v A
21 | Gm3k 9 v 1100 62294 Tkkkkkk k45615 64212 Tk k0828 13Qskkokkkx 39 1100 LA
22 | == 8 v 1000 62294 T*xkkkxx%24209 6421 2 THkkkxkk %0832 184%%xk%%60 1000 B
23 | BEH 6 J 1000 62294 Taksokkrk*x47945 6421 2THkxkkkkx0814 15T #3kk%69 1000 LA
24 | BRAE 13 v 1500 62294 T*xkokkxxx42995 64212 THkkkxkkk0817 183skxkk*39 1500 FLG A
25 | W 7 J 1000 62294 T*¥¥¥4kkx4 7689 6421 2Tkkkkk¥5%x0877 1824441 8 1000 FL v A
26 | LRE 14 v 1500 62294 Tksokkrk k77840 640324%*xkxk%x0819 152%k%k%33 1500 LAk
27 | BRE 13 v 1500 622947 Hxkkxxk*47150 642127 *xkkxkkx0812 155%kxkk*26 1500 FL At
28 | 4k 12 N 1500 62294 Txkkdkkk 4 2888 640324%xk*+45x%0816 138*kkkkkA] 1500 FLgb v A
29 | ZR 10 v 1100 | 62294 7%xkkkkrkk46095 64212 THxkkkkkk0819 1523kKkkk%59 1100 FLG A
30 | =4 14 v 2000 622947 *xkkxxk%16753 642127 *xkkxkkx1013 13 1skkokok k72 2000 FLGe A
31 | TH 9 Voo 1000 | 622947%kkkkkxx47903 640324kHk k%0837 153%kkk%58 1000 BB At
32 | BRIk 8 v 1300 | 62294 7Hkkkkrk*09449 642127 #xkkkkkx0818 176%4kk%%89 1300 B A
33 | MFR 11 v 1500 622947 +xkkxxk+51629 642127 *xkkxkkx0833 150%k*kk*25 1500 FLG A
34 | BRE 15 v 1500 62294 THkkkkxk] 4488 64212 THkkkkk%1 05X 155%skkk*x94 1500 FLG A
3B | HFE 11 v 1200 622947 +xkkxxk*43779 642127 *xkkkkk%081X 155%kkkk*82 1200 ALt
36 | a4 9 v 1300 62294 Txxkkkxx*44767 6421 2 THkkkxkk%0818 15THkkk%%16 1300 BB
37 | BRI | 17 v | 2000 622947 +xkokxxk*36633 642127 Hxkkkkk*081X 18 1sksokk*88 2000 LA
38 O 16 v 1900 62294 T H*skkkxk 492484 642127 *xkkxkkx0827 158%kxkkk*89 1900 ALt
39 k4 10 N 1000 622947 **kkk**k*x53337 64212 7*k*k%*%k**x1016 153%kkkk%k83 1000 B XA

40 I, )L, 25 v 1000 v 500 62294 7Hkxkx4x%]11736 640324 *34k4x4kx1 028 138kckkxx50 1500 oA

41 X5 23 N 1000 N 500 622947 *kxk*k**x]12146 64212 7*k*xk*%k*%k]1 036 138%kkkk50 1500 B R

42 =5 45 v 1000 N 500 622947 **kk*k**k*x59832 64212 7***kkk*k*%k1013 13 1kkkk*9 1 1500 B XA

43 ¥l HH A 10 N 1000 N 500 62294 7#*kkx*k*k53603 642127 *%k*x4%k*1035 188kkkk*60 1500 R




4 | =HEF 5 v 1000 62294 T +*kkkk 462604 642127 *xkkxkk%1050 155%kkskk*17 1000 R

45 | G 8 1000 v 500 62294 7 *¥¥¥4kkx 76966 6421 2Tkkk*¥¥%%1 666 1814487 1500 B A

46 | ZERK 15 1000 v 500 622947 ¥kkkkr*x69716 64212 Tkkskokokokx 1012 15 1 3kkokkk28 1500 B RA

47 | Huwn 4 20 J 2000 62294 Tk x%*x*x88997 642127 %kkxxxk%1099 1574kkkkx32 2000 W YA
48 | Am¥A 8 10 v | 2000 62294 T Hxkkk3k*8536 1 642127 *xkkxkkx1035 134skxkk%08 2000 ¥+ YA
49 T 25 v 2000 62294 T*kokkxx*64782 642127 Hxskkkkk*103X 183s%kxskk*95 2000 ¥ YA
50 | mE*% 20 Vo | 2000 [ 622947%kkkrkxx69948 64212 THkskkkx 1 067 192s%%kk%%26 2000 W E A
51 | BEA 4 10 Vo | 1000 | 622947Hkkkkkkk94207 640324 %kkakkx1 050 188kkkokk54 1000 Y HA
52 e 50 N 1000 622947 *%kk*k¥*k*x8 7599 640324 *%*4x4kx1 037 184%%k4x%89 1000 WAt
53 | T AX 78 N 1000 62294 Txkk4k4%k4 3854 64212 Tkkkkk4kk1 054 183kkk4k08 1000 -
54 | T 62 v 1000 | 62294 7Hxkkkkrk*37380 642127 Hxkkrkokx 1118 130skkkk%89 1000 FIHRA
55 | EHWA& 55 v 1000 62294 Txkkxxxk40004 640324k k* k%1015 1523k % %88 1000 IR A
56 | G h%E 24 N 1000 62294 Txkkkk5k%1 3999 640324%kxkx4%%] 038 132%kkkkk45 1000 R
57 | BF 4 18 v 1000 62294 Txkkkxx%27605 6421 2 THkkkkskokk 144 17 Taskkokkx6 1 1000 FHRA
58 REY /3 32 v 1000 62294 T*3kkxxxx30179 640324 %kk*x3%k%1030 186k *x64 1000 IR A
59 | k& 120 v 1000 | 62294 7Hxkkkkrk*23653 642127 #xkkkkkx 1015 138k k23 1000 FIHRA
60 | E Ak 21 v 1000 62294 T*3kokkxx*37943 64212 THkkkx3k%1039 1323k * %06 1000 IR A
6l | E®E 26 N 1000 62294 Txkkkk4% 19281 642127 kkkkk%k%1039 17 Tkkkkk33 1000 FREAMN
62 | A 12 Vo | 1000 [ 622947#kkkkkxx89539 6421 2TH¥xkkk4x1016 183%x0kkx%80 1000 F IR A
63 | H#E | 23 v 1000 62294 T*xkokkxx*81688 64212 THkkkxkkk1013 132skkxkkk%19 1000 At AR
64 | A 2 20 v 1000 62294 T Hxkokkrkk 11227 64212 Hxkkkkk%101 1 18Tkkokxx17 1000 A48 A
65 | BxX¥% | 15 v 1500 | 62294 7xkknknrk]14453 640324%Kxkxkkx] 159 181 ¥tk 85 1500 BIEA

66 V- 13 N 1500 622947 **kx*k****x64979 64212 7***xk*%k*%k]1 056 17 THHkkx%29 1500 B JEAT

67 &R 3 10 N 1500 622947 **kkkk4*x72975 64212 7*k*kkkkk%k]1 032 13 1kkkkk2 7 1500 B A

68 | TR 15 v 1500 62294 Trxkkkxxx65620 64212 THkkkkkkk 1179 159skskkkx50) 1500 B IEA




69 | P& 1500 v 1000 | 622947 *xkkxxk*78568 642127 *xkkxkkx1018 138%kkx%96 1000 BEA
70 | FHEAR 1 v 1500 62294 T xkkkrkk 12721 640324%kkkxk%%1010 18 1skkokkx23 1500 W PRA
71 KER 13 N 1500 622947 *kkkx*k*71837 642127 *%*k*x4k*1013 15T#kk%k*k*93 1500 A
72 | FIEX 5 Vo | 2000 | 62294 7xkkkkkxx02139 64212 THkxkkrkx1015 138skkkkkk67 2000 TR
73| B 5 V| 2000 | 622947%kkkrkix67815 64212 THkkokskrokk103x 18THkkkx%88 2000 TEN
4 | BAK 30 v | 2000 [ 62294 7%kkkkkxx00729 64212 THkxkkdokx] 01x 155%kxkskk*83 2000 LA
75| AR 5 v | 2000 | 62294 7xkkxkxxx09200 6421 2THkxkkkkx] 049 15THkkkk%53 2000 T EA
76 | BEMA 5 Vo | 2000 | 622947Hkkkkkkk02082 64212 Tkkaokokk 137 138kkkkx96 2000 kR
7| B4R 80 v | 2000 | 622947*kkxxkkx99661 642127 *xkkxkkx 1077 182skkxkk*54 2000 FRRE A
8 | BEE 90 J 2000 62294 Txxkkkxxx00782 6421 2THkkkxkk%1016 182kkkxx08 2000 3P A
79 | BRAHKk 65 Yo | 2000 | 62294 7wkkmrkkx94332 64032 4%xkkkkkx091 7 14Tokkokk 42 2000 3 FE A
80 | EE A 50 v 2000 622947 *3kk*xx*65883 6421 2 THkkk k%1070 151 3kkokkx55 2000 FEFHEA
81 | BEA 220 v 1000 62294 Txxkk*xx*04996 6421 2THkkkxkk%1076 186%kkk*x50 1000 3 PHEA
82 | HamFE 45 v 1000 | 62294 7Hxkkkkxk%97190 642127 Hxkkkkkx 1015 1584k 76 1000 3P FHEAT
83 LEE 60 N 1000 622947 **k**k**k**x06672 642127 *¥*xF*k¥%kx1074 183%kkkkk6 1 1000 FEPHEA
84 | ZfET 20 v 1000 | 62294 7Hkkkkrk*04859 642127 Hkkkkkokk 1092 183skkk%80 1000 30 FHEA
85 | BETE 20 v 1000 62294 T*3kkxxxx14106 6421 2THkk*x%k%1010 184k ¥ %60 1000 FOFHEA
86 | 2A%= 25 v 1000 62294 T*xkk¥xx*06805 6421 2THkkkxkk%1018 150%skkkxx35 1000 3 PE A
87 | TR 48 v | 2000 622947 Hxkokkxk*27355 642127 Hxkkxkk*1014 15Taoksokokk 12 2000 MR EA
88 | E¥fk: 6 50 v 1000 62294 T Hxskkxkk*14428 642127 *xkkxkkx1014 130%kxkk%84 1000 HEFAR
89 | TER 2 70 v 1000 622947 *xkkkx%%70696 642127 Hxkkkkk%1 19X 159%kkkk%25 1000 HE A
90 | TR¥ 65 30 v 1000 | 622947 #kkxkkrk53692 64212 THkskkrckx 1018 138%kk3k06 1000 HE F A
91 | HMHK 90 v 2000 622947 *xkkkkk 453692 640324%kkkxkk%1094 138kkkkkx33 2000 WHEF A
92 | XA 40 v 2000 622947 +xkkxx%x%00099 640324 %kkkkkk%1053 14THkkk%%88 2000 REFEH
93 | VAR 35 Vo | 2000 | 622947kckokkx12614 64212 THckokokokk 1019 1844tk T T 2000 R IFA




94 | ®B¥fh 85 2000 622947 +xkkxxk 462270 642127 *xkkkikx1021 138kkxskk*45 2000 RRIFA
95 HER 65 J 2000 62294 Txxxkk5k%4 7906 642222k kk¥¥¥%261 7 13 1skkkokskesk82 2000 FAEHN
96 | B{E & 4 v 1000 62294 T Hxkkk3k 402904 640324%xkkkkk%105X 182skxkk*T9 1000 5 A
97 | TF¥E 34 N 1000 622947 kkkkokx%x27709 640324%kkkkkkx1 05X 18 1sokkkk%6 1 1000 IEAEMR
98 g4 5 v 1000 622947 Hxkokkk*27683 640324 %xkkkkkk121X 133sksokok*13 1000 Iw ER
99 | Hwmik 400 v 2000 622947 Hxskkxkk*68453 642127 *xskkxskkx1250 17 Tokkkk*29 2000 Vb

100 | B4R 8 J 1000 62294 7 **¥¥44%%0397 1 6421 2Tkkkkk¥¥%] 215 138kkkk4%2 1 1000 VEFEA

101 | BXE 4 20 N 1000 62294 7H*kkkx*x*k37674 642127 *%*kkk**kx1 059 177#kx%x%06 1000 Vb

102 | A= | 50 50 v 2000 62294 T*kokkxxx72618 6421 2 THkskkk3kk] 261 135%kxkk*22 2000 A

103 | /i 80 N 1000 62294 Tkt kxx36890 642127 kkkkkkk1 246 155%kkkkx23 1000 VA VAT

104 | 484 20 v 1000 62294 T ktokorkx3207 1 64212 THckokokiokk 1 220 138atokokckG2 1000 Vi
105 | =E% 80 J 1000 62294 7*¥¥¥44kx58097 6421 2T kkkkkkkk1214 159%k%%1 6 1000 FREAR
106 | B 18 50 N 1000 62294 T**¥¥¥44xk5930 1 6421 2Tkkkkk4kk] 238 180***x+%60 1000 FREHN
107 | L #EM 6 J 1000 62294 7444444447 3992 64212 THk4444%%1226 152s0kkoioleok 1 3 1000 RREN
108 | ZR#% 17 v 1000 622947 +xkkxxk 74703 640324%kkkkrkk1211 15THkxk%*06 1000 T REAR
109 | Z#R 8 J 1000 62294 T**kkkk% 35363 64212 Tkkkkk4kk] 252 1523444k 45 1000 FRER
110 | AESE 42 N 1000 62294 7**¥¥4kkx39530 6421 2T kkkkkkk%] 258 17 Tk444%T8 1000 FRER
111 | aE# 68 v 1000 62294 T*xkkkxx%39233 6421 2THkkkkkkk1218 184%kkk%%33 1000 KRB
112 | Z#%E | 5 25 J 1000 62294 T ikkkokdok 18809 64212 THkiorkkdok] 235 138k 94 1000 FRER
113 | al 4 20 N 1000 62294 7kkkkkx%x39589 64212 THkkkkkkk]1215 155%kkk*%93 1000 FRBAR
114 | BFHFE 50 J 1000 62294 T *¥¥¥4kkx 35546 6421 2Tkkkk¥kkk] 224 13844433 1000 FREHN
115 | F=# 4 v 2000 62294 Takskkrkx48360 640324kskktokx] 231 135%kkkk22 2000 KR BH
116 | ZF#ig 5 v 2000 62294 T *xkokkxxk 77272 640324 %kkkxkkk]1 224 138kksokkk22 2000 T RER
117 | #&E® 3 J 2000 622947+ 444444569070 64212 THkkkk%%%]1 228 138skskokokokok() 1 2000 FREN
118 | =34 5 V 2000 62309 5kskkokkkkk75370 640324 30ckkdkxxx 1217 1834k 3 2000 FREA




119 | =B# 3 v 2000 622947 +xkkkxk 09412 6421 12%kkkxkkx0418 138kkkkkk6 1 2000 FRBR
120 | E#ta 6 v 1000 62294 T kskkkkxxx30323 642127 Hk4xxxkk1216 132%skkk%%99 1000 FRER
121 | G&% 4 v 1000 622947 ¥kkkkkx25900 64212 T#kkaokokk 1219 138kkokkk28 1000 FREBR
122 | B/ANE 3 v 1000 62294 T Hxkkkkk k75914 642127 *xkkkkkx1215 189%kkk%%88 1000 KRB
123 | =BA 6 v 1000 622947 +xkokx3k* 17079 642127 Hxkkxkk*1210 158kxkk*T0) 1000 I RER
124 | BaAk 4 v 1000 62294 T*xkokkxxx78900 64212 Tkokkkkokk 1213 133skxkk*28 1000 FRBH
125 | D3R 6 J 1000 62294 7 *¥¥¥44kx 75039 6421 2Tkkkkkkkk] 212 11 5%%kk4k25 1000 FREHN
126 | BRF 112 N 1000 622947 ****kx*x*%90590 640324*%*k*xkk*1251 139kkkk%T70 1000 IR R
127 | BaRE 100 v 1000 62294 T*xkokkxx*58457 640324%xkkxkkx1255 182skkxkkk42 1000 BRE
128 | #EE 73 N 1000 62294 Tx¥¥¥4kkx56139 6421 2 Tkkkkkk4k] 233 17 T*xk44%05 1000 HRE
129 | B4 65 v 1000 62294 Trxkkkxxk86267 640324s%kkkxkkk1138 180%skkkxx97 1000 BR &
130 | #E5% 130 v 1000 622947 *xkkxx%k%03350 642127 *kkkxkk%1210 155%k#kkKT8 1000 EHRE
131 SEE 3 v 1000 622947 *kkkkk*x44340 64212 7*k*kkkkk%k]1239 183%kkkk%30 1000 BiR B
132 | a/hiL 1 v 1000 62294 Txkkkxxk1 6920 640324%kkkkk%x121 1 138kkkxx94 1000 BiR &
133 | TAR 2 v 1000 622947 *3kk*xxx60602 6421 2 THkkkkkkk]1 239 180%k*kk*49 1000 ERE
134 | 40EX 2 v 1000 62294 THkrkkrk 63761 64212 THkskkrckx 1218 130%k%3%06 1000 EES
135 | 4% 15 N 1000 622947 *kk*kkk*kk79492 642127 *¥*kFk¥%kx]1210 138#kkkx%59 1000 G
136 | =tk 5 N 1000 622947 **kk*k**k**x85172 64212 7*k*kk*k**k1416 138%kk**x%36 1000 1 &
137 | B2 11 v 1000 622947 Hxkokkkk 17732 642127 Hxkkkokk*1240 139skskk*33 1000 &
138 | Bz 8 v 1000 62294 T*xkokkxxx45818 64212 THkokkxkkk] 235 138kkkkk*98 1000 TR
139 | HER 35 N 1000 622947 **kkk**k*x76958 64212 7*k*kkkkkk] 21X 17 THkkkk% 18 1000 1 &
140 | Bk 110 v 1000 62294 THkxdokkdk 10764 6421 27*4x4xk%kx123 1 158%kkskkkb5 1000 (EES
141 | BN 100 v 1000 622947 *xkkxx%%80003 642127 *xkkkkkx 1217 189kkxkk*10 1000 (EES
142 | BAR 80 v 1000 622947 **k**k**x**x69062 640324 kk*kkkkkk] 21X 130%kkkx%20 1000 1 &
143 | EXRf® 55 v 1000 62294 Trxkkkxxk61468 64212 THkkkkrkk1211 18 Takkokkx(2 1000 TR




144 rE 200 N 1000 622947 *kk*k**k**67467 642127 *%*¥x¥k%x]1215 180%kk4x%37 1000 G
145 | T8+ 110 J 1000 62294 7 *¥¥¥45%x60106 6421 2Tkkkk¥¥k%1219 199%#k44%83 1000 CE3
146 | fTX 150 v 1000 62294 THkkkkxkx09657 64212 THxkskokk1 21X 182skkxkx91 1000 T8
147 | BER 100 N 1000 622947 *kkk****x]19308 64212 7*k*kkkkkk] 21X 132%kk%kkk] 1 1000 1
148 | A=A 70 v 1000 62294 THxkokksokk 12334 642127 Hxkkxokk* 1259 18 1sokkkk 34 1000 R R A
1499 | BH4e 60 v 2000 622947 *xskkxkk*22556 642127 *xkkxskkx1218 18 1skkxskk*18 2000 RER
150 | &%t 50 J 1000 62294 7*¥¥¥4kkx 73549 640324%kkkk¥¥%] 215 199%#k44%92 1000 B ER
151 | #Mm4 80 v 1000 622947 +xkokxxk 58837 642127 ¥xkkxkk%1030 18 1sokkkk34 1000 R R A
152 | Z/AN& 200 v 1000 62294 THxkkkrk k61484 640324%xkkxkkx1218 130%kxkkx2 1 1000 RER
153 | # & 260 v 1000 622947 *kk*k***x13170 64212 7*k*kkkkkk]1213 132%kk**x%85 1000 ¥ FH 2=
154 | A¥EX 150 v 1000 62294 Trxkkkxxk(7 388 6421 2 THkkkkrkk] 25X 18 Tkskokkx29 1000 ¥ FH
155 | BEiL 90 v 1000 62294 T +xkkxxk%63191 64212 THkskkokx 1213 155%kk3%10 1000 ¥ FH
156 | I RHAI 7 10 v 1000 622947 **kkk**k*x06828 64212 7*k*kkkkk%k]1279 180%kkkk*53 1000 & FE =
157 | B#H 120 J 1000 62294 Txkkkxxk1 3305 64212 THskkkxkkk] 255 15 Tkkokkx24 1000 ¥ FHE
158 | EH R 11 2000 | 62294 T#kkxkk*x99397 64212 THkrkkrkx0432 152%Kkkkx4 2000 JeA
159 | BiR&E 35 2000 | 62294 7%kkkkkkx85219 64212 THskkkkkk0484 18 1k k87 2000 A
160 | Z &4k 55 v 1000 62294 T*3kokkxxx51178 6403243k *xkk%0416 173%kkkxx10 1000 b
161 M 24 v 1000 622947 *xkkkkk%16265 642127 *xkkkkk%0433 189k xx98 1000 oA
162 B 10 2000 622947 ****kx*x*%96820 640324 x**H*k**k*(0436 14T#kx%x%35 2000 e
163 | Eakak 15 2000 62294 T Hxkkxxk 427653 640324 %kkkxkAk*0426 17 THkxkk*20 2000 BB
164 | ZIEE 20 v 1000 62294 T*xkkkxx%77190 6421 2THkkkkkk%0434 180%kkkkk52 1000 A IEHA
165 [ 8l 20 v 1000 62294 Tkkkrk k69322 640324%kxkxkkx0410 18Ttk 27 1000 K VWA
166 | T4 & 12 N 1000 622947 **kx*k***x50850 642127 ***xkxkx%k0411 18 1%kkkkk64 1000 AR
167 | Emp 18 N 1000 62294 Txk¥k4kkx 24135 640324%kkkk¥4kk043X 133%%kk44k83 1000 KA
168 | & XHE 50 v 1000 62294 Trxkkkxxk83495 64212 THkkkkkkk0454 130skskokkx74 1000 A VEHA




169 | BX®K 10 20 v 1000 622947 +xkkxkk 461336 642127 *xkkxkkx0415 15THkkkk K65 1000 KA
170 | B X4 13 v 1000 62294 Txkkkxxxk6022 1 6421 2THkkkkkk%0417 182s%%kx%%70 1000 A VEHA
171 | BER 70 v 1000 62294 Txkkkkkkk] 2452 6421 2THkkkkkkk0411 155%skskk*x10 1000 AV
172 | B 8 v 1000 62294 T*xkk*xx*6 3536 6421 2 THkkkxkk%0438 138skkkkk%08 1000 A VEHA
173 | #W#1E 8 v 1000 62294 Txkkkkx*k82562 64212 THkkkkkkk0434 134skkokkk] | 1000 A IEHEA
174 | B=F 20 v 1000 62294 Takackkrkx39847 640324kxkkkx0421 183%ackkkk57 1000 KA
175 | TH#EE 7 17 N 1000 622947 *kxk**k*x66401 640324%**k*k**k*k(0438 130%kkkkk4 | 1000 A AT
176 | BHE 8 v 1000 62294 T Hkokokkk*k85602 64212 Tkrksrckx041X 139kkkkkb5 1000 AV WA
177 | BERE 9 v 1000 62294 THkrkkrkx58986 94212 THksokkkx0438 132%0kkk%6.3 1000 KA
178 | EER 22 v 1000 62294 Txkkokxxxk67201 6421 2THkkkkxkk043 1 139k k04 1000 A VEHA
179 | BXEA 17 v 1000 62294 7 Hxkokokkk k66129 64032 4%Kkkkkkk0499 17 THxkkxk 76 1000 KA
180 | BFse 25 v 1000 622947 *xkkxx% 460050 642127 *xkkxk%%0430 13 Tkskkk40 1000 KA
181 1 B 20 v 1000 622947 *xkokkrk k75137 640324 %kkkkkk%0430 152sKkkk%6 | 1000 A VA
182 ¥ 6 15 N 1000 62294 7#*x*x4x%84105 640324 *%*Fx4k*(0432 1523%k%x%10 1000 AEEA
183 | A% 35 v 1000 622947 *3kk*xx*66525 642127 Hxkkkkk*0451 183s%kxkk*19 1000 KA
184 | Ba&xX 11 2000 62294 7H***x4x*%68183 642127 *%*kHk**x0410 153kkkkk5 1 2000 A
185 | B4t 20 1000 622947 +xkkkkk 452347 640324 %kkkkkk%0421 181Kk *56 1000 A
186 | Ltk 20 N 2000 622947 **kk*k**x**x38765 640324 %**kkk*k*k3262 18 1Hkkk%T( 2000 A
187 I 24 N 2000 622947 **k*kx*x*k83957 640324*x%*kAk*k* 246X 173%kk%kk*85 2000 A
188 | E&E 15 2000 62294 T*xkokkxxx16023 6421 2 THkkkkxkk047 1 188%kxskk*53 2000 A
189 | FTER 30 2000 622947 *kkkkk*x7 2564 640324 %**kk**k*%k(0435 13 1skkkk%k33 2000 A
190 EH 24 2000 622947 **xkk¥4x%(0286 1 642127 *¥x44¥%x(0436 1303%skck4k%22 2000 A
191 | EBR& 20 v 1000 62294 TxkkxxxkT7461 1 640324 %kkkxk4k%0435 139Kk *36 1000 A
192 | EEW 22 v 1000 622947 *kkkk**x70295 64212 7*k*kk**k*k0419 13 1%kkkk%66 1000 A
193 | 4 HK 45 v 1000 64212 THxkkkkkk0416 622947 *kkkrk k69178 132%30kkk%3 7 1000 BT




194 | B&FL 9 25 v 1000 640324%kkkxkk¥0418 622947 **skkkk* 89387 130%kxk%9 1 1000 B F A
195 NE 14 N 1000 640324%k*kk*%k*k(0439 62294 7**kkkk*x%k90442 180%Hkkkx%T79 1000 Bl TR
196 | ZAH 46 v 1000 640324%¥kkkk%057 1 622947 *¥kkkkk*60545 130K+ 34 1000 BT
197 | B®RE 14 N 1000 640324%kk%k**k*k(0430 62294 T**xkkk*kk54720 158%kkk*x%9() 1000 Bl FA
198 | B/AE 15 v 1000 640324%¥kkxkk%0415 622947 *xkkxkkx45154 150%kHkk*02 1000 BT
199 | B3# 3 25 v 1000 622947 *xskkxxk*10525 642127 Hxkkkkk*0424 132skxkk%89 1000 Bl FA
200 | =EF 47 v 1000 640324%kkkxkk¥0427 622947 **kkkkk%15793 184%%xx%%90 1000 B F A
201 | X#F* 36 N 1000 622947 H*k*kx*k*k96257 642127 *k*k*kAk*(0427 132%%k%k*%T79 1000 Bl FA
202 | Bwxm 12 v 1000 64212 THkkkx3k%0516 62294 Tskkxxxk% 79040 184s%kxkkx2 1000 BT A
203 | L4 46 N 1000 6421 2 Tkkkk444k0438 62294 Tkkkkk¥4%46312 155%kk%4%20 1000 BTN
204 | #D W 6 22 v 1000 64212 THxkkkkdk0438 622947 *skkkrk k83595 134skxkokk 1 5 1000 B F A
205 | HEK 4 v 1000 642127 *kkkxk4k%0453 622947 **kkkk*%59216 15T k%404 1000 Bl A
206 Ok 5 v 1000 64212 7*kkk*%k*%k(0439 62294 TH*kkkk*kk62603 138%kkkkk64 1000 Bl FA
207 | 4% 3 v 1000 640324%kkkxxkk042 1 62294 Tskkxxkkk* 15579 18 Takokokkx63 1000 B3 F A
208 | H#= 25 v 1000 62294 T*3kk*x**83329 64212 THkkkxkkk0445 138kkxkk*87 1000 Z B
209 | BX A& 32 1000 62294 7#***x4x*05676 6421 27*%*4x4%k*(0435 138kkkx%30 1000 ZFEA
210 | FIEA 35 v 1000 622947 *3kk*xx*69016 6421 2THkkk*xkk1011 139kskkk4 7 1000 Z B
211 | &R IER 30 2000 62294 Txxxkkkkx 27282 642127 kxxk%%%%0410 139%kxx¥%50 2000 Z AR
212 | =HE 1 J 1000 62294 Taksokkrkx 18152 64212 Tkksokkkkx0437 136%3k%x%00 1000 Z AR
213 | =R 3 1000 62294 T*3kckkxxx79709 64212 THkkkxkkk0418 18 1kxskk*05 1000 Z B
214 | X 4 J 2000 62294 T*¥¥¥4kkx37653 6421 2Tkkk*¥¥4%x0410 1814403 2000 B EA
215 | =ik 30 1000 | 62294 7#kkkkkrkd0012 6422223%K3k¥kk%2620 181 #kokkk3 3 1000 Z FE A
216 | BWW 28 1000 622947 +xkkxxx%83307 640324 %kkkxkk%3389 189kkkkk*28 1000 Z B
217 | #1EFn 32 v 1000 622947 ****k***x36010 64212 7*k*kkk*k*k(0438 181kkkkk45 1000 BEER
218 | #EXR 10 1000 62294 Trskkohkxrkk6932 1 64212 THkkkkrkk043 1 17 THkkokxx83 1000 ZH B




219 | FER 3 v 1000 622947 +xkkxxk+80287 642127 *xkkxkk*0419 15THkkkk*T6 1000 ZEE A
220 | /REE 3 N 1000 622947 *kkk**k*x32962 64212 7*k*k*k**k*k0418 183%kkk*k*28 1000 BEER
221 | R 3 N 1000 622947 ****kx**x*23916 642127 x%kHkkkx(0434 139skkkkk3 1 1000 Bk A A
222 | &R 5 v 1000 622947 xkkkxk 426045 642127 *xkkkkkx0418 14THkxx%%96 1000 BRAN
223 | EAH 75 v 1000 62294 Taksokkkk k67259 640324%kxkkx%k%0495 13 TkkkkT9 1000 BAA
224 | BhE 5 v 1000 622947 Hxskokxkk*3 1488 642127 *xkkxkkx0513 150%kxskk*04 1000 KA
225 | =R E 6 v 1000 62294 7 **¥¥44kx33968 64212 Tkkkk¥54x042X 13844428 1000 KAEN
226 | EBM 3 Vo | 1000 [ 62294 7#kkkkkxx53959 640324%¥xkxk4x0416 155%kkkkk45 1000 BA A
227 | BE%¥ 3 v 1000 64212 THkkkxkk0458 64212 THkkkxkkk0458 184%kxkk*53 1000 BKAN
228 |  RAER 7 v 1000 622947 +xkkkrk 421786 642127 *¥kkkkkk*0436 153%kkk%%89 1000 BRAN
229 | R 13 v 1000 62294 7 Hxkokokrkk02115 64212 THxkkokkk056 1 132skk0k0kk57 1000 BRAA
230 | AR 60 v 1000 62294 TH¥skkx%%90350 640324%Kxkkkx0414 188kkxkk+60 1000 Bk A AT
231 | MR 15 N 1000 62294 Txkkdkokk4 1148 6421 2Tkkkkk4¥%1 015 130%kkkkk%T74 1000 KAEN
232 | =H4% 25 J 1000 62294 7 Hkkkokrk k33344 64212 THxkkkkkk0484 189kkkokk35 1000 KA
233 | BE# 20 v 1000 622947 +xkkxk* 11397 642127 *xkkxkkx0412 136k xx68 1000 BRAA
234 | THE 15 J 1000 62294 7 Hxkokkrk k22868 640324 %Kkkkkk k0447 15Tk %88 1000 BKAN
235 | ¥k 10 v 1000 62294 THkokkkkk 75454 6421 2THkk*xkk%0418 182kkkkk*23 1000 BRAN
236 | HXK 1150 N 2000 622947 **kkxk¥*x*x52106 642222%%*k*k**k*%2613 138%kkk*x%10 2000 S
237 | B | 10 v 1000 62294 Taksokkrk k55238 64222 2%KkkKkA %2626 186%Hkk%69 1000 KR
238 | HAR 14 v 1000 622947 Hxskkxkk*4 1285 642222 %xkkxk%%2610 132skxkk*48 1000 MR
239 | E%¥X 51 N 1000 622947 **kx*k**x**x66807 642222%F**k*k*%2628 136%k*k**x%56 1000 S
240 | XM | 11 v 1000 62249 Tkrkkrk k27458 642222%K3k¥kk%26 36 130%3kkkk57 1000 A
241 | HXE 15 21 v 1000 622947 *xkkxx%x%30775 642222 %kkkkkk% 2612 1323k * %86 1000 KM
242 | HE% 13 51 v 1000 62294 Txxkkkxxk54887 642222 %k kkkk% 2695 18 1skkkkk*80 1000 a2l
243 o 50 v 1000 62294 Trxkkkxxk84765 64052 23kkkkk k2627 1323kskk%%26 1000 a2




244 | £XH 16 v 1000 622947 *kkk**k**x84448 642222%F*kF*k¥*k*x3419 17TH%k%x%]13 1000 LA
245 | &AF A 17 J 1000 62294 T *k¥k4kkx 77912 642222k kk*k¥¥¥k%3419 1804402 1000 A
246 | R % 53 J 1000 62294 7Tx*kkkk% 20826 642222%x***¥%k%2619 178*kkkk] 1 1000 LA
247 HAR 16 N 1000 622947 *kkkkk*x12907 642222%%**k**k*%2633 178%kkkx%60 1000 LA
248 &% 15 J 1000 62294 Tx*Hkkkkk 39412 642222%xk**¥%k%26 14 17 Lksktokokk 1 1000 LA
249 | FHR 15 v 1000 622947 Hxskkxkk*23689 642222 %kkk*kk*261x 132skkkk494 1000 MR
250 | EIER 58 N 1000 622947 *kkk¥*k*x(01613 642222%F*x*kk*k*%261 1 185%kkkk%T79 1000 S
251 | H4E® | 20 v 1500 622947 +xkokxk*27136 642222%¥kk*kk*2639 180Kk *73 1500 KR
252 | ZHW 16 v 1000 622947 +xkkxxk*53113 642222 %xkkxk%%2630 18 1skxokk*92 1000 MR
253 | HXFK 1100 v 2000 622947 x**k*k**x94321 640522%F*k*k*k*k*k2695 138%kkkkkT5H 2000 L&A
254 | TKMEE 24 N 2000 62294 7#*x*x4x*03330 64222 2%F*kFk**k*2610 138kkkkk33 2000 SN
255 | BH 17 v 1500 622947 *xkkkx%22210 642222 %%k ¥ xk4k%2615 155%kkkk*15 1500 MR
256 | FKMER 147 v 1000 62294 Txxkkkxxx40733 642222 %kkkkkk*2614 138kkskkkx] | 1000 a2l
257 | HEH 149 N 1000 62294 Tx*kkkkx 28712 6422225k k*k*¥¥%2652 155%kskk%54 1000 LA
258 | TKER 198 v 1500 622947 +xkkxxk*25668 642222 %xk kK kk*261 x 182k xkk+66 1500 MR
259 | TERE 56 J 1000 62294 Tx*kkkkx4 2127 6422225k k*k*¥¥%2633 1323444k 38 1000 LA
260 & E 82 N 1000 622947 H*kkx*x*37127 642222%F***k*k*%2698 181%kkkkk14 1000 LA
261 | &% 350 v 1500 62294 T xkkkxk 430874 642222 % kKK kK% 267 T 18 1kkskkx8 1 1500 A
262 | B R 20 v 1500 622947 +xkokxxk*06479 642222%¥kk*k4%2619 130%kHkk*82 1500 KR
263 =R 15 v 1000 622947 Hxskkxkk 80432 642222 %xkkxk%%2610 180%kxkk*23 1000 MR
264 H AR 16 N 1000 622947 *kkk***x79330 640522%F*kkk*k*k2617 155%kk*x%80 1000 S
265 7% 31 N 2000 62294 7¥%x4x4x%28878 642222444k %x2610 180%skkkekk2 | 2000 L&A
266 | HEA 22 v 2000 622947 *xkk*xxx58440 642222%kk*Kkk%26 1 x 133s%kkkkk45 2000 MR
267 | wRR 73 v 1500 622947 +xkkkxk 450326 642222 %kk*Kkk*2636 166%Kkk%*66 1500 a2l
268 | LW WM 31 J 1000 62294 7 Hxkkkrk k58696 64212 THxkkkkk%0016 138%kkkk13 1000 AR




269 | BUNE 28 v 1000 62294 T*3kk*xx%99817 6403243k ¥ k%0037 1823k *x34 1000 WAL
270 | BER 30 N 1000 622947 *kkk**k**x62822 64212 7*x¥*x%kx*kx%001 1 132%%k%k**x%56 1000 WAL
271 | TAEHK 25 N 1000 622947 **kkx*k*k83162 642127 *%*kHk*kx(001X 138kkkk%19 1000 WAL
272 | A4 X 32 N 1000 622947 **kk*k**x*x00518 640324 %*k****k*x0016 189%*kk**x*08 1000 WAL
273 | FHESE 21 N 1000 62294 7#kkkx*k*71138 6421 27*%**x¥k*(0015 183%kkkkk78 1000 WALA
274 | BR# 23 v 1000 62294 TH*skkkxk*47001 642127 *xkkxkkx0012 14Tkxkk%30 1000 WAL
275 | L EH 7 N 1000 622947 *x¥¥kk**] 2586 642127 %k***kkx0017 138%kkkkk44 1000 "BZA
276 | &= 85 v 1000 62294 Taksokkrkx64593 64212 Tkkskkxkx0013 159skxkk*87 1000 HEA
277 | #&HE 14 v 1000 62294 T*xkokkxxx51195 64212 THkk*xk%%0018 153s%kxkkk52 1000 HEA
278 | £#F £ 8 18 N 2000 622947 **kkk**k*x52378 612127*k*kkk*k*%k3230 158%kk*k*88 2000 NF
279 | AEZ 15 12 v 2000 62294 Takskkokkkxx9 187 1 64032 4%kkkkxx% 3228 158%xxkxkxx49 2000 INT7
280 | #&-F 38 v 2000 622947 +xkkkkk 446547 642127 *xkkxk%k%0219 1303skkkxx44 2000 INTFr
281 M 28 N 1000 622947 **kk*k**k*x69404 640324%**kkkk*kk3212 1394 | 1000 NF
282 | EBR 42 v 1000 | 62294 7Hkkkokskk55314 64212 THskkokrkk023X 132skkk8%20 1000 INF
283 | =@= 38 v 1000 62294 THkokxxkk50374 642127 *xkkxkkx0217 15THkokokkx43 1000 INTFr
284 | MEER 15 8 J 1000 62294 Tskskkokxxxx55199 64212 THkkkkxxx 3298 181akckokoxx 15 1000 N7
285 | #&-F 32 v 1000 622947 +xkkxrk* 16413 642127 *xkkxkk*3236 181k xx28 1000 A2
286 | EAL 180 v 2000 622947 xkkkxk*51776 64032 1 kkkkkkx0218 135%Kskkkx2 2000 INFF
287 | %R 92 v 2000 | 62294 7*kkkkkxx27119 640324%Kkkkxkk%0018 135%kkx%88 2000 INF
288 | XA 130 N 1000 622947 **kk*k***x92763 640324 ****kkkkk3298 186%k***%89 1000 T3
280 | THHR 245 N 1000 622947 **kkk¥***16575 642127 *k*kk**k*k3256 135%kkkk%69 1000 T
290 | T#tA 140 v 1000 62294 7x*xkkkkk] 1451 640324 *34k4x4xk%x3217 137T3kk4x%T9 1000 T
291 bk 215 N 1000 622947 **kx*k**x*x(09778 642127 xkkkkk¥k3247 139%kkkx%(09 1000 T3
292 | THE 130 N 1000 622947 *kkkk*k*x26497 640324%**kkkkkk021 1 159%kkkkk(7 1000 T
293 | k4 490 J 1000 62294 7 Hxrkokokrkk46969 642127 Hxkkrkk k2427 130k 24 1000 T3




294 | THEX 30 1000 622947 **kk*k**k**x38629 6421 27*¥*¥x¥k%3238 138kkkx%34 1000 T3
205 | TxA& 350 N 1000 622947 *kkkkk*kx14083 64212 7*k*kkkk*%k2452 138%kkk*k*03 1000 T
206 | #XE 20 1000 622947 kkkkkk%T7 2242 64212 THkkkkkk%2412 180skokokokok 1 3 1000 T¥E
297 Ta 400 N 1000 622947 **kk*x****x30069 642127 *k*kkkk*%k2413 180%*kk**k*83 1000 T
298 M ¥ 19 1000 622947 **kkx*k*k53082 642127 xkkAk*k*2479 132%kk%kx*92 1000 T3
299 | Ag %At 153 v 1000 622947 *xskkxxk 08390 642127 *xkkxkkx3235 155%kxk**90 1000 T
300 | Tx& 596 1000 622947 **kx*x**x**x06865 642127 *k*kk**k*k3238 18T#kkkk%03 1000 T
301 | Tt 14 N 1000 622947 **k*kx*x*09620 642127 *k*k*k**k*3252 133%kk%x*k06 1000 T
302 | TH#% 430 1000 622947 x%kk¥*k*x80984 6421 27*% k4 x¥k%2432 135%kkkkk] 1 1000 T3
303 | ZA\H 135 N 1000 622947 *k*kkkkkx] 1949 64212 7*k*kkkk*%k3242 189%kkkk*28 1000 T
304 | A& 48 2000 62294 7kkkx*k%k19924 6421 27*%k*x4k*(0233 13 13kkkkk7H 2000 F&H
305 | %% 240 v 2000 62294 T +xkkxxk%8053 1 642127 *xkkxk%k%3216 130%k#kkKT5 2000 TFEH
306 | Tk 160 2000 622947+ +4kkk4445652 64212 THkkk444%3214 159skkokokok 40 2000 TEH
307 | BEMKR | 43 2000 62294 Tkkkkxrk 1 8092 6421 2THkkkxkk%3210 189kskk*x99 2000 FEH
308 | BFE= 38 v 1000 622947 *3kok*xxx(09458 6421 2 THkkkkkkk2222 130%k*kk%05 1000 TFEH
309 | Bz 1800 N 2000 62294 Tx*k444k4 7661 64212 Tkkkkdkk3214 139%kx4%06 2000 NG =R
310 | Hxki% | 25 v 2000 62294 T +xkkkxk*47011 642127 Hxkkkkk*241X 138%kxkk*58 2000 MR A
311 | BER& 200 v 1000 622947 xkkkxk%43520 640324 %kkkkkk%3215 133skkkkkk34 1000 N A
312 | BxRH#E 500 N 1000 62294 7**xkx**x%41060 640324 *F*kHkkkx3214 18T#kkkk*34 1000 ¥
313 | HERHA 45 v 1000 622947 Hxkkxxk*30253 640324 %kkkxkk*3214 13 1skkskk*59 1000 MR A
314 | L H 50 N 2000 622947 *kkkkk*x52927 640324 %k*kk**k*k3256 139%*k%**x%36 2000 I E
315 | TER 10 1000 62294 THkxkkxk k6084 7 642127 x4 k4 x4k%3223 138kk4x%68 1000 ¥
316 | H/ 15 N 1000 622947 *kkk**k**x34069 640324 %**kkkk*kk248x 153%kkkk%2() 1000 ¥R
317 | Ba# 50 J 1000 622947 %¥kk%%%%53040 640324%K¥4%4%%3210 151 sokokokokok49 1000 FER
318 | AR 40 v 1000 62294 Trxkkkxxx82206 64212 THkkkxkk%3216 130skkokokx42 1000 N A




319 | BRE 15 1000 622947 k¥kx¥*x%31145 640324 *%*Fx¥k%3212 1393kkkxk57 1000 ¥
320 TE 10 N 1000 622947 *kkk**k*x30428 64212 7***kk**k*%k3238 139%kkkkk42 1000 T E
321 | TE# 8 v 1000 | 62294 7#kkkkkkk52422 6421 2Tkkskkokkx 243X 189%kxx%85 1000 MR A
322 | BREE 38 1000 622947 *kxx¥**x(1605 640324 %k*kk**k**k3216 130%%kk**k%93 1000 I
323 | BR 40 v 2000 | 62294Tk*kkkkkx37969 64212 Tkxkkkkx3230 182%kkk%33 2000 MR
324 % 12 1000 62294 7*¥kx*x%46119 642127 *¥kkkkkx2414 132%%k4x%9 | 1000 ¥
325 g 8 1000 622947 **kkk¥*k*x(04439 640324 %k*k*k**k*%x3920 132%kkk%k*( 1 1000 i
326 | LR 45 N 2000 622947 **kkx**x%41706 642127 *%*kHk**k*x3239 130%kkkk%37 2000 N A
327 | BXE 300 v 2000 62294 T Hxkkxxk*3 1877 640324%xkkxkk%3219 139kxkk*33 2000 MR A
328 | LptHE 28 1000 622947 **kkk**k*x06729 64212 7*k*kkk*k*k3218 13 1skkkkk44 1000 VR
329 | LgHE | 45 v 2000 | 62294 7Hkkkrkkx92834 64212 THxkkkkkx321 7 183skkok k98 2000 N A
330 | EAk 86 v 1000 622947 +xkkkkkk4 1572 640324 %kkkkkkx 321 2 188%kkkkKT8 1000 MR A
331 | &#4&%K 12 2000 622947 **kkk**k**42316 64212 7*k*kkkk*%k3212 152%kkkk%33 2000 VR A
332 | Hgtal 500 2000 62294 Tkrkkrk k64T 48 64212 Tkrkkkkx2419 186%kk3%69 2000 N
333 | HAA | 43 1000 622947 +xkkxxk%28901 642127 *xkkxkk*3236 152%3k%x%09 1000 MR A
334 | A2 50 N 1000 622947 #**kkkHk*1 4921 6421 27*%kdk4k* 2422 181#kk%**96 1000 NG A
335 | HjEHA 500 2000 622947 +xkkxxk+95707 642127 *xkkxkkx3218 134skxkk%30 2000 MR A
336 | Lwk | 70 v 1000 622947 xkkkkk k54642 642127 Hkkkkkk%2439 138kkkkk*76 1000 N A
37| ZAEZE | 35 v 1000 | 62294 7#kkxkxx%90826 64212 Tkkkkkkkx3234 139%0kkkk53 1000 MR A
338 | HHEHE 46 N 1000 62294 7Hkkkx¥xk1 3254 640324 **k*kk*k*k%k3255 132%%kkx%23 1000 ¥
339 | BftfE 50 v 1000 622947 xkkkxk 434073 642127 *kkkkkkx2433 15Tkkkk460 1000 W
340 | T 150 2000 62294 THkxkkxk% 39320 642127 *¥*kHk¥k*x3246 130%skckkk%1 7 2000 ¥
341 | TER 55 N 1000 622947 *kxx**k*x37407 640324%**kkkk*kk3257 18 1kkkkk44 1000 V¥
342 | B EH 200 v 2000 622947 xkokkrk k41748 642127 *¥kkkkkk% 321 2 139kkkk%23 2000 N A
343 | %% 180 v 2000 | 62294 7Hkkkkkkx92847 640324 %Kkkkkk%3216 176%kkk%%90 2000 N A




344 Ty 240 N 2000 622947 **k**k**k**35799 640324 ***kkkk*kk333X 186%***x*65 2000 ¥
345 | M &% 30 J 1000 v 1000 62294 T *k¥k4kkx 12927 6421 2Tkkkk¥¥k%3214 138*kk*x¥%39 2000 S RHF*
346 | &% F 3 20 N 1000 N 1000 622947 H*kkx*k*k46263 642127 *%*k**k**k*3215 134%%x%x%86 2000 & FKH
47 | BER 230 J 1000 v 1000 62294 Tx¥¥¥4kkx 48418 6421 2Tkkk*¥¥4%x0219 13844k 8 2000 & RKHF*
348 | &% HW 9 6 v 1000 | < | 1000 | 622947s%kkkkrkk27224 64212 Tsokskokotokk321 7 138koorckk23 2000 & xRH*
349 K= 8 v 1000 62294 T*xkok*xx%99370 9421 2 Tkokkkskkk 3212 18 Tsksskkx4 | 1000 e
350 | E/E 4 J 1000 62294 T*¥¥¥4kkx 24419 640324%kkkk¥¥4k%k3214 180%*k444%T78 1000 5
3Bl | FAR 63 v | 1000 62294 THkrokskrckk264 1 64212 THkskokokorokk 2432 17 THokokokkk 22 1000 K
352 | BHRE 6 v 1700 622947 *xkkxx%%90706 642127 *xkkxkkx321 2 132Kk K62 1700 £
353 | 4 19 v 1500 622947 x*kkkk*k*x81127 64212 7*k*kkkk*k3239 181%¥kk*k*k%56 1500 =R
34| ZAF 16 v 1500 62294 7 Hkkkokrokk 78354 642127 Hkkkkkkx 3263 15 Tkkok k23 1500 &K
355 | FhEE 7 N 1800 622947 +*k*x+x*¥87610 642127 *¥*kFk¥kx2439 138kkkekk3 1 1800 =R
356 | LEH, 11 v 1500 622947 **k**k**k**x86308 64212 7*k*k***k*%k3265 182%kk**x%(09 1500 =R
37 | F¥E 64 v | 1000 [ 622947kskkrkx55870 640324 3kkkokk3212 183tkkk8 1 1000 K
358 | JE#t 85 J 2000 622947 *3kokkxx*82022 64212 THkk*x3%%0010 138kkxkkk*87 2000 &g
359 | FbFT 150 v 1000 62294 Tkkkkxx%87959 6421 2THkkkkxkk325 1 189sskkkxx(5 1000 =K
360 | =¥ 80 v 1000 622947 +xkkxxk*14939 640324% kKK k%3276 15T kK420 1000 =
361 & 70 N 1500 622947 *kkk**k**x85467 640324 %k*kkkk*%k2447 189%kkkkk] 1 1500 =R
362 HIT 95 N 2000 622947 ***kkk**k*35701 642127 *%**k**k*3213 184%kx%**30 2000 %K
363 = 12 v 2000 62294 THxkkkxk%224385 640324 %kkkkkk43251 17 THkxxk*89 2000 e
364 | = 55 N 1500 622947 *kkkk*k*kx54138 642127 *k*kkkk¥kk322x 17 THkk%k%98 1500 =R
365 | KEBE 70 v 1500 | 62294 7xkkrknrk24427 64212 Tkrknkokx3244 184%kk3%39 1500 &K
366 | THEM 65 v 1500 62294 T *xkkkrk%32213 64222 1 kxkkkkkx 3772 138kkskkx27 1500 &=
367 5 52 J 2000 622947 +kkkkkk 488544 642127 *¥kkkkkk%3230 182%kkkk%58 2000 &
368 | F#IE 45 v 2000 62294 Txxkkkxxxk80855 64212 THkkkxkkk3243 1823kkkxx80 2000 K




369 | ZE=# 150 v 2000 62294 T Hxkkkxk*87421 640324%kkkkkk*321X 139%kxkk*08 2000 =R
370 | T/ME 80 N 2000 622947 *kxkkk*kx4 1205 640300%**k***k*k0265 181 ¥kkx%00 2000 =R
371 | XA 75 v 2000 62294 T Hkokkkkk 1 6860 64212 Tkroksrokx 324X 151 okokokokk 4.2 2000 =R
372 | LRHK 135 J 2000 62294 T *¥¥¥4kkx 76515 6421 2Tkkkkk¥¥%2435 135%k¥%%%39 2000 EH
373 | FHH 60 v 2000 622947 ¥kkkokrkx81028 64212 Tkkaokokx3213 188kkokokk23 2000 =3
374 | E=%H 180 v 2000 622947 *xskkxxk* 78156 642127 *xkkxkkx3218 189skxskkx3 | 2000 =
375 | F=F4R 65 N 2000 622947 *kk*k**k*x87785 640324 %**kkk*k*%k3215 180%*kkk*x%34 2000 =R
376 | =WE 50 v 2000 622947 Hxkokxxk*6967 7 640324 %xkkkk* 321X 130%kxkk*55 2000 K
377 | A&ER 181 v 2000 62294 THkkokxxkk 10814 6421 2THkkkx3xkk021X 1303k *x06 2000 B FH
378 | k¥*K 8 2000 622947 **kkk¥4k*kT76767 64212 7*k*kkkk*%k3212 138%kkkkk] 7 2000 M
379 | T/ 18 51 2000 62294 Txxkkkxxx80166 640322skkkkkkk k3927 186%kkokxx33 2000  FE
380 | X # 352 v 2000 62294 T*3kokkxx*64778 6421 2THkkkxkk%0215 159skkkxx10 2000 AL
381 | BRE 18 v 2000 622947 **kkk**k*x81189 64212 7*k*kk*k*k*%3230 138%kkkkk]8 2000 M
382 | =5% 230 2000 62294 Txxkkkxxx70216 640324skkkkk 3232 17 Tkkokxx23 2000  FE
383 | HH= 132 v 1000 62294 T*3kokkxxk14745 6421 2THkk*x3k%0210 13Takokokkx T3 1000 B FH
384 | FkERE 6 J 1000 62294 7 Hxkokokrkk 75793 642127 Hkkkkkok k3232 132skk0kk% 1 5 1000 i FH
385 | #HHXK 8 2000 622947 H*kkx¥*x%15348 642221 *¥kdx¥k%3792 1393kk4k%56 2000 B
386 | TRIC 9 2000 622947 *kkk**k*x78896 642127 ***k%kk*k*xk0237 130%kkkkk42 2000 M
387 | =¥k 124 N 2000 622947 ***kkk**k*8294 1 640324 x**H*k**k*(0436 152%skkkkk5 1 2000 2]
388 | WEM 75 v 1000 62294 T Hxskkkkkk 17144 642127 *xkkxkkx3238 14THkxkk*85 1000 i %
380 | F#HE 21 1000 622947 *kkkkkkk4 1212 642127 *k*kkk*k*k3218 132%kkkk%]3 1000 Zik=3
390 | #EFEAL 27 v 1000 62294 7¥kxdx4x%81947 6421 27*% k4 x4k%3212 176%%¥4x%86 1000 ZiE
391 | EF# 53 1000 622947 **k¥*k****x68833 642127 ***kkkk*k%k3245 138%kkkx%26 1000 ZikS
392 | k4 45 v 1000 622947 +xkkkxk k78775 642127 Hxkkkkk4241X 184%kkkk%53 1000 ZiE=
393 | &g 21 v 1000 62294 7 Hxkokokrk k92117 64212 THxkkkkkk3236 1863k k46 1000 ZiE~1




394 | B4 7 N 1000 622947 *k**k**k**x49639 642127 *¥*kF*k¥kx3219 155%%k4x*63 1000 Zik=S
395 | mEK 32 1000 622947 xkkkkk k69427 642127 Hkkkkkk*2419 176%%kk%%53 1000 ZiE=
306 | ZAX 23 1000 622947 **kk*x**x*05 388 6421 27*%*k*k*k*3228 159%kkkk*k97 1000 =
397 | FH#R 20 N 2000 622947 *kkk**k**x33842 642127 *k*kkkk*%k3232 189skkkkokkT2 2000 S
398 | ARE 37 1000 62294 Txkxkrkx03944 64212 THxkrkrkk0214 18 Lskokokkd4 1000 NG
399 | R 63 2000 622947 **skkxxk*05097 642127 Hxskkkkkk025X 15Tkxokk*33 2000 =
400 | REA 46 v 2000 622947 xkkkkk 451276 642127 Hkkkkkk*3254 186%kkx%%89 2000 =7
401 | =4X 90 16 N 1000 62294 7**k*kx**x*17605 642127 x%*kHk**kx0230 13 1#kkkk%60 1000 g
402 | 8% 30 v 1000 62294 THxkkkxkk 79271 642127 Hxkkxkk*3239 14THkxkk*28 1000 4
403 | KR & 8 20 N 1000 62294 T*kkxkk*k*k9(082 640324%**kkk*k*k3213 15T#kkkk%50 1000 4
404 | R 50 v 1000 62294 THskkokxrkk09701 6421 2 THkkkkkk%3239 183k xx89 1000 Frdp
405 | HrRE# 8 40 N 1000 622947 #*kkk¥k%12101 642127 *¥*kFk¥kx3210 188#kkkx449 1000 pigd
406 | A& 30 N 1000 622947 **kkkk*x]1 3992 64212 7*kkkkk*%k2419 186%*k***x*36 1000 4
407 | EAAE 8 v | 1000 | 622947xkkkknkx14339 64212 THxkskckx0212 17 Tkokokok k22 1000 i
408 | A¥= 20 10 N 1000 622947 **k**k**k**x84652 640324 ***kkk*k*kk250X 182%kkkk*54 1000 pigd
409 | £FH1E 8 25 v | 1000 | 622947kckinkxQ7414 64212 THcksokkokk3228 130kkkx%98 1000 e
410 | EHE# 1 20 v 2000 | 62294 7*kkxrk*x91014 640324%Kxkkkkx0419 13 1 #okkkkd 2 2000 4
411 IEZHE 20 N 1000 62294 Tkkxk**k*k82855 642127 ***kkkk*k%k3258 13s%kkkx%953 1000 4
412 | BEHE | 11 8 v 1000 | 62294 7Hkkkkkk]2168 64212 T#kkaokrkx3226 155%skkkkk69 1000 F
413 | #EE 9 v 1000 622947 **kkxx*k*56166 642127 *xkkxkkx3335 173%kxkkkx9 | 1000 4
414 | B EE 60 30 N 1000 622947 **k¥*k¥*k**62995 642127 *k*kk**k*%k3238 186%*kk**k*81 1000 4
415 | BRI 30 v 1000 | 62294 7*kkkkxx%50600 64212 THkskkrckx3217 183%ckkk9 | 1000 Fr4e
416 | F &% 20 v 1000 62294 T *xkkxxk*x79710 642127 *xkkxk%k%0216 18 1skkskkx57 1000 4
417 | BRE 18 N 1000 622947 **kkkkk*x50112 64212 7*kkkkk*k3222 185%kk*k*k*93 1000 pogidl
418 | BA#k 100 N 1000 62294 7*kkx4x%50799 640324 xFkAkkk*k 327X 1323%k%k%3 1 1000 e




419 | ERAE 40 v 1000 62294 T +*kkkxk*97554 642127 *xkkkkk*323X 12THkkkk*33 1000 e
420 | =BG 7 J 2000 62294 T *¥¥¥4kkx32156 6421 2Tkkk*¥¥5k%2289 139%%kk4%6 1 2000 T
421 | B&* 38 v 2000 622947 Hxkokxk*44540 640324%¥kkxkk*3226 173sksokk kT2 2000 e
422 % 23 N 2000 622947 *kkk¥**x()9388 640324 %k*k%**k*%3290 185%kkkk*23 2000 e
423 o#® 20 N 2000 622947 ****kx**x*k84660 642127 *%*k*x*k*0217 187#kkk*%19 2000 e
424 | HR 8 v 2000 62294 T Hxskokxkkk 11277 640324 %xkkkxkkx2218 183s%kxskk*53 2000 e
425 | GR%E 300 N 2000 622947 **k**k****x68999 64212 7*k*kkk*k*%k3239 130%*kkkkk55 2000 /N
426 | LEHE 270 N 2000 622947 ***kkk**k*(0648 1 642127 x%*kHk**kx0210 15T#k*%*%86 2000 AT
427 BE 3 80 v 2000 622947 +xkkxxk 59897 640324 %xkkxkkx 3257 133skxkkx5 1 2000 ANIY
428 | L E 350 N 2000 622947 *kkkkk*kT74489 64212 7*k*kkkk¥k0212 183%kkkk%2() 2000 /N
429 | ER& 26 N 1000 62294 7#*k*kx*x%83997 642127 x%kdkkkx2414 188kkkxk%T70 1000 £
430 | HEX 2 v 1000 62294 T *kkkkxkx76405 6421 2T #kkkkckx3218 138skkckx09 1000 #E
431 | A3, 32 N 2000 622947 ****k**x**x()8386 640324 %**kkkk*%k2443 182%kkkkk14 2000 HE
432 | HEE 17 v 1000 62294 Txkodkxxk 75447 6421 2 Tkkkkkk 2412 133skkkkxx85 1000 #E
433 | ¥ 20 N 1000 622947 *kk*k**k*x72909 6421 27*%*Fx¥k%3212 13 13kkkx%83 1000 HE
434 | EHEE | 50 v 1000 61194 THxkkrokx71214 642127 H¥krokrkx83213 189kkokok k52 1000 #E
435 #a ¥l 210 N 1000 622947 #**kk¥*k%8222 1 640324 ***kFk¥kx3219 132%%k4x%T4 1000 HE
436 | ZEH 10 N 1000 622947 *kkk¥*k*x79565 640324 %k*kk**k**k3216 17 THkkkk%02 1000 HE
37| Bx= 8 N 1000 622947 *k*kkkkk*13741 640324*%*k*kkk*321 1 138kkkkk62 1000 E
438 | BE= 14 v 1000 62294 T*xkokkxxx71810 64212 THkkkxxk%3210 138skkkskokx]12 1000 rE
439 | FHEE 4 N 2000 622947 *kkk**k**x6267 1 64212 7*k*kkkk*%k3222 138%kkkkk60 2000 A&
440 | F 117 v 2000 62294 Taksknrkx 70098 6421 2THkrkkkkx3239 138%kk3k96 2000 I E
441 | B &ER 9 N 2000 622947 **kx*k**x*x30360 64212 7***xkkk*%k3215 133%kkkkk3 2 2000 W FE
442 il 24 N 2000 62294 Tx¥¥¥44kx(08036 6421 2Tkkkkk¥¥%3237 138*kkkkk434 2000 ¥
443 | FHF 9 v 2000 62294 T Hktokokk k58224 640324 3kkkiokk3213 156%kkkk33 2000 RGN




444 | THH 8 v 2000 622947 +xkkxxk 462937 640324 %kkkxkk% 3258 15Tkkkk%49 2000 /RGN
445 e 8 N 2000 622947 *kkkk**x7 7875 64212 7*k*kk**k*%k3349 138%kkkkk58 2000 A
446 | vHEAE 9 v 2000 62294 T Hkokkkkk46559 64212 THkskokkiokk3223 1824kkkk%QT 2000 RGN
447 | BWIW 11 N 2000 622947 *kkk**k**x46649 64052 1 kkkkkk*k2623 166%*kkkk*67 2000 A
448 | EE4¢ 12 J 2000 62294 7 Hxkkkxk*54041 642127 Hxkkxkk*3210 133skskk k25 2000 I
49 | ABE= | 24 v 2000 62294 T*xkokkxx*97 257 6421 2 THkkkxkk%3219 13 1skkskkx3 | 2000 RGN
450 | THE# 8 N 2000 622947 **kxx***x9794(0 642127 *k*kkkk¥%k2414 135%kkkk%k04 2000 A
451 | #EF¥F 30 v 2000 62294 T Hkokokkkk56192 64212 THkskokokrokk2417 138okokxk39 2000 RGN
452 | H X%k 15 N 1000 622947 *kkkkk*x45989 640300%**kk%k*k0046 180%kkkkk5H2 1000 MAE
453 | =@ 10 J 1000 622947 +xkkkxk 496483 642127 #kkkkkkx 3248 153%kkkk%93 1000 &
454 | BER 24 v 2000 62294 THskkoknrkk61244 64212 THkkkxkkk2415 138kkokxx5H8 2000 B
455 3R 38 N 1000 622947 **kx*k**k*x56580 640324 ***Fx¥k%x364 1 181 #kk4x%98 1000 MAE
456 | HBRAR 200 v 2000 622947 +xkkkxk 408858 640324 %kkkkkk4362X 152s%kkkk kT4 2000 &
457 | BE= 22 N 2000 622947 #***x4%%96509 642127 *%kdx4k*3213 153%kk%k%93 2000 RN
458 | #W 21 v 2000 622947 +xkkxxk+00698 642222 %kkkKkA%2249 18 1kxkkk55 2000 VRGN
459 | T/ 5 N 2000 62294 7#***kx4%x%01510 640324*F*kAkHkxk322X 18T#k*%*k%56 2000 RN
460 | L E 31 N 1000 622947 *****k¥*k*5036 1 642127 %% *4x¥k%x3217 152%%k4x%00 1000 MFAE
461 ox 5 N 1000 622947 **k**k****x89198 640324 %**kkk*k*k(0423 155%%kkk*k*k58 1000 K
462 | L= 3 2000 622947 **kkx*x*02187 642127 *%*kFxkk*3221 192%kkk**49 2000 R
463 | TH=E 6 v 1000 62294 T Hxskkkkk*19374 64212 THkskkxkx2468 139skxkkx5 1 1000 K
464 | G &4 36 v 1000 622947 *xkkkxk 04789 64212 Hxkkkkk%101 1 188%kkkkx3 1 1000 #HK
465 | L ERF 45 N 1000 62294 7%*x%x43x%69060 6421 27*% k4 x4x%x3213 133s%kk0kk%k35 1000 EHK
466 | ZHEX 105 N 1000 622947 *kkkkk**22223 642127 ***xkkkx%k321 1 138%kkk%k59 1000 K
467 | HE X 16 N 1000 622947 **kkk**k*x94294 64212 7*kkk*k*kk325X 176%kk**k*81 1000 EH
468 | RIERK | 42 J 1000 62294 7 Hxkokkrkk58747 64212 THxkkkkkk32 14 13 Tsokarotokk ] 1 1000 R




469 | mEE 150 v 2000 622947 +xkkxxk* 10267 642127 *kkkxkkx3212 132Kk *58 2000 K
470 | EBRE 3 v 1000 622947 *kk*k**k*x92694 64212 7***kkk*k*%2492 132%kkkk%k64 1000 K
471 | HEE 70 N 2000 622947 **kkx**x*00323 640324*%*xFxkk*321 1 15T#kkkk*25 2000 i
472 | MEFE 12 J 1500 62294 T**¥¥44%k37171 6421 2Tkkk*¥¥¥%3216 133%kkk4k7 3 1500 ¥
473 | A E 13 N 1500 622947 H*kkx*k*78837 64222 3%%*k*x*k*(0623 139%kkkk*k93 1500 Y
474 | BRE 60 v 1500 622947 *xskkxxk*36009 642127 *xkkxkk*3210 188kkxkskk*92 1500 Y YE
475 | MER 8 10 J 1500 62294 T**¥¥4kkx95522 64212 Tkk¥k¥4kk323 1 188*kkk4k02 1500 ¥
476 | R E 10 N 1500 622947 ****kx*x*89730 640324 *%*k**k*k*3232 138*kkkk*35 1500 Y
477 x5 20 N 2000 622947 *kkxk¥*k**x 36645 640324 *k*kHk¥kx3210 155%%k%x%29 2000 Y E
478 | BRAT 8 6 v 2000 622947 **k**k**k**x39599 64212 7*k*xk**k*k0012 152%k%kx%60 2000 Mg
479 | BRE 32 N 1500 622947 x*kkk**k*%9994 1 642127 *%kdx4k*3218 184kkkkk5 | 1500 Y
480 | I E 8 v 2000 | 62294 T#kkxkkxx57900 642127 Hxkkkkk2441 139%0kx%36 2000 YE
481 | %43 65 v 1000 622947 *xkkkkk 445609 640324 %kkkkkk¥2444 18 1skkkokk k92 1000 Y
482 | BER 168 J 2000 622947+ ¥44x%%%89601 64212 THkkkkkkk241X 180skkokokok 36 2000 E
483 | HRA 6 v 2000 622947 **kkkkk*56522 642127 *xkkkkk*2419 14THkxkk %28 2000 VE
484 | L@ X 130 J 2000 622947+ ¥H4x%%%85984 64212 THkkkkkkx321 1 188skkokkk88 2000 E
485 | B & 12 78 v 2000 622947 +xkkxxk461019 6421274 ¥skkxk%214 133skkkk499 2000 tE
486 | MMk 142 v 1500 622947 *xkkkx%*55616 642127 *kkkkkkx3238 130%kkk%%08 1500 Y
487 | #4& A 6 N 1500 622947 **kkx*%x*03049 642127 *%*kAkkk*241X 136%k*%*%39 1500 i
488 | g 146 N 1500 622947 *kkkkk*x4 2798 642127 *¥*kFk¥kx3210 15T%kkkx%25 1500 Y
489 | 4K 8 N 1500 622947 **kkk**k*kx56259 642127 *kkkkk¥%k2414 188%kkkkk3 1 1500 ¥E
490 % 12 N 1000 62294 7%%x4x4x%8957 3 642127 x4 k4 x4k%3212 137%%k4x%03 1000 ¥
491 | BER 65 v 2000 622947 *xkkxx%%90950 642127 *kkkxkkx3213 188%kxkk%*30 2000 i3
492 | E=FTT 13 N 2000 622947 **kk*k****4 2866 64212 7***x***k**0616 139%kkkkk19 2000 [
493 | =Fx | 14 J 2000 62294 7 Hxkkkrk k85885 642127 Hkkkrkkx3218 139skkokk52 2000 (¥




494 | # B & 5 v 2000 622947 +xkkxxk*4 7736 642127 *xkkxk%k%1016 182skkxkk+26 2000 (33
495 | HEE 23 J 2000 62294 7 *k¥¥4kkx9 2552 64212 Tkkxk¥5kk3211 13244427 2000 K
49 | HETL 26 v 2000 62294 Txxkkkxx%91102 6421 2 Thkkkkkk43212 1323kkkkx27 2000 (¥
497 | HER 50 J 2000 62294 T *¥¥¥4kkx92022 640324 %k ¥3k¥5kk3291 186%kk44%kT3 2000 ¥
498 | WER 28 N 2000 62294 7****kx**x*35875 640324 *%*k**x**k*3238 186%kkkk*73 2000 %3
499 | =48 82 v 2000 62294 T Hxskkkxk 493624 640324 %xkkxkkx321 7 15Tkxskk k65 2000 i3
500 RIS 42 N 2000 622947 **kkk¥*k*x44935 640324 %k*kkkk*kk3277 138%kkkkkT2 2000 Kk
501 | =X% | 40 J 1000 62294 7 Hxkokkkk k93442 642127 #xkkkkkx 3213 130Kk k22 1000 (¥
502 | L E% 46 N 2000 622947 *%kkxk**k*x89648 640324*%*4x¥kx322 1 176%%k%x%53 2000 (%3
503 | B/TK 43 v 1000 622947 ****k**k*x90349 640324%k*kk*k*k*kk3219 15T#kk*x%96 1000 Kk
504 | =%H% | 39 J 2000 62294 THxkkckonrokkd 2711 64212 THxkkkkkk3256 13 1soktokk58 2000 TR
505 TR 38 v 2000 622947 *xkkkkk 69762 640324%kk*xk%%1016 138Kk k65 2000 3
506 | & EME 18 N 1000 62294 T*k¥4kkx 73929 640324%kkkkk¥¥%k3237 132%kk44k28 1000 K
507 | EX73 8 54 N 1000 622947 #***x4x*66368 640324 *%kFk4k*2422 159kkkk%3 7 1000 ¥
508 | F=BRR | 23 v 1000 622947 +xkkxxk*95405 640324 %kkkxkkx 3338 15THkxkkk12 1000 (3
509 | BXHEF | 42 v 2000 62294 THskkodxxkk8851 1 6421 2 THkkkxkkk3215 15THkskk* %96 2000 [ 93
510 | BHE= 18 v 2000 622947 *3kokkxx*47849 6421 2THkk*xk%1016 130%kskkKT3 2000 (33
511 | BE# 38 N 1000 622947 *kkkkk**x4 1660 642127 *k*kkkk*k3214 138%kkkk%49 1000 Kk
512 | #EM 20 N 1000 622947 ****kx*x*%90787 642127 xkkkkkkx2414 138skkkkk5H2 1000 K
513 [ X &fn 23 v 1000 62294 T*3kokkxx%92262 64212 THkkkxkkk24 18 132skkkk %24 1000 X7
514 | f#R 32 J 1000 62294 THkkkkxkx 46583 64212 THkkkrckx2418 132s%0kskkk 10 1000 ]
515 | B X 26 v 1000 62294 THkxkkx k%906 13 6421 27*4*kHkk%x3210 1523%%ck4k%44 1000 KA
516 | M E & 21 v 1000 62294 T *kkkkxkx49167 640324 %kkkkkkx1435 13 1skbokrokk 46 1000 e
517 | TEMHK 6 v 1000 622947 **kk*k**k*x53063 64212 7*k*kkk*k*%k3215 181k¥kkk*k%26 1000 X &
518 | T EA# 150 v 1000 62294 Txxkkkxxk57096 64212 THkkkkkkk023X 138kkkkx10 1000 X &




519 | T# kK 30 v 1000 622947 +xkkxkk+12980 642127 *xkkxkkx 3277 159skkk+20 1000 K&
520 | H#lL 25 N 1000 622947 **kkk**k*x52678 64212 7*k*kkk*k*k3219 152%kkkx%k84 1000 K&
521 | T EAk 4 85 v 1000 622947 *xkokxxk*64696 642127 Hxkkxkk*0256 138skksokok*13 1000 K&
522 | ZHHFu 10 N 1000 622947 **kkk***x54046 64212 7*¥*kkkkx%k321 1 139%kkkx%99 1000 K&
523 | H7X 20 v 1000 62294 T Hxkokk3k 463994 640324 %xkkkkk 3771 138kkkk*46 1000 QS
524 | T ¥k 16 v 1000 622947 *k**k**k**xZ6897 642127 *¥*kHk¥k%kx0219 138kkkk%82 1000 K&
525 & 23 N 1000 622947 *kkkkk*x51042 642127 *k*kkkk*k3217 138%kk**k%k88 1000 K&
526 | T #4L 20 N 1000 622947 ****k*x**x*55936 642127 *%*kdkk*k*k(021X 136%kkk**82 1000 K&
527 | T/AME 15 v 1000 622947 #xkkxxk*55548 640324*skkkkk%3211 176%kxkk*45 1000 A
528 | L& 13 v 1000 622947 *kkk*k*x(06484 64212 7*k*kkk*k*%k3213 130%kk*k%87 1000 X &
529 | T 5 v 1000 62294 Tskskkokkkx k58292 64212 THkkkkkkk 321X 13870 1000 K&
530 | BE= 30 v 1000 622947 *3kkxx3xx1 7600 64212 THkkkkkk]1813 130%k#k%*36 1000 F e At
531 | #HEH 30 N 1000 62294 Txk¥¥4kk k38462 6421 2Tkkkk¥44%k1816 152%kxx%%1 0 1000 7 g At
532 | FIAE v 1000 62294 Ttk x92280 6421 2Tssokskrokkx 1819 180skokkord | 1000 Bk A
533 | LR 15 v 1000 622947 +xkkxxk%90151 642127 *xkkxkkx 1927 155%k*k**06 1000 F gk At
534 | TR E 32 N 1000 62294 7Hkkkx4x%82544 642127 *%kdx4kx1821 138kkkkk14 1000 At
535 | &/MHE | 56 v 1000 62294 T +*kkkk 453204 640324%kkkxkk%1819 155%kkskk*55 1000 RER
536 | HE 18 v 1000 622947 xkkkxk 489872 642127 *xkkkkkkx1849 138kkkkkx6 1 1000 RER
537 | H&F | 58 Vo | 1000 [ 622947#kkkkkxk11366 6421 2Tkxkkkkx1836 139%kkkk58 1000 KRR
538 | MM 286 N 1000 62294 7*¥Hk4kke k66048 640324 %kkkkkk%]817 17 Tx*¥%%%T76 1000 e
539 | #HKAE | 28 v 1000 622947 xkkxx%%29906 640324%kkkxkk%1836 155%kkk%*36 1000 RER
540 | #ILF | 32 v 1000 | 62294 7kknkknk64814 640324kskkokx ] 82X 183%akokak04 1000 KRR
541 | F=&HE 465 N 1000 622947 **k**k****x88650 64212 7***xkkk*%k]1925 18THHkkkk44 1000 RER
542 | AHE | 47 J 1500 623095%kkkkkk492418 642127 *xkkkkkkx 1417 176%%kk%%03 1500 RER
543 | B | 286 v 1000 62294 7 Hxkokokrk k64226 640300%Hkkkkk0451 139skkkkk39 1000 REAR




544 450 1000 622947 +xkkxxk+08203 642127 *xkkxkk*1826 183skkkk429 1000 RER
545 45 1000 622947 *kkkkk*x(1927 64212 7*k*kkk%k*%k]1 829 130%%kk**%56 1000 JRER
546 210 1000 | 62294 7#kkxkkx%76236 64212 Tkxkkkkx1896 138%kk%k59 1000 KRR
547 245 1000 622947 *kkkkk*x21478 64212 7*k*kkk%k*%k]1820 138%kkkk%k92 1000 KRR
548 62 1000 62294 Taksokkrkx59517 64212 Tksokkokkx 1827 181 #kxokk3 1 1000 F LA
549 50 1500 622947 *xskkxxk*85805 642127 *xkkxskkx1818 133skkkk*39 1500 AL
550 180 2000 62294 Txxkkkxxx11416 640324 %kk*xkk%1876 15 Tskkokkkd | 2000 FAWLA
551 190 Vo 1000 [ 62294 7#kkkkkxx92867 62282 2Kk kkk %2520 181 #0kkkkT5 1000 F LA
552 50 v 1000 622947 Hxkkxkk k78467 642127 Hxkkxkk*1814 15Tkxkk*69 1000 F AR
553 50 v 1000 62294 Txxkkkxxx76217 6421 2 THkkkkkokk] 822 139kokkkx18 1000 AL
554 85 V| 1500 | 622947kckkkx03344 640324 xkskskrckx 183 1 15244k k%85 1500 B AR
555 180 N 1500 622947 Hkkkx¥x%14205 642127 *¥*kFkkkx] 829 195%kk4x*66 1500 |H A
556 170 N 1500 622947 x*kkk**x75651 640324%**kkk*k*%k]1835 138%kk*kx%96 1500 H E AT
557 75 v 1500 | 62294 7Hkkkkrk*43859 64212 THskkkkdk 1829 14TkkkkK T8 1500 B AT
558 80 N 1500 622947 Hk*kx*x%94183 642127 *¥*xF*k¥k*x]1 81X 138#kk4x%88 1500 |H E A
559 60 J 1000 62294 7 Hkkkokrk k54914 64212 THskkokrokk 181X 155%kk%03 1000 B A
560 200 N 1500 622947 *kkk*k*kk7 7226 642127 *¥*¥*k¥*k*x]1 816 138kkkxx07 1500 |H E A
561 80 N 1500 622947 *kkk**k*x(08492 642127 *¥*kkkkkk]1877 132%kkk*k%25 1500 |H AT
562 93 N 1500 622947 **kkx*x*00747 642127 *%*kHk**kx1810 186%kkkkkT 1 1500 B A
563 220 v 2000 62294 7Hkkkkrkx] 9575 64212 THxkskackx] 81X 130skskokkx43 2000 B & A
564 190 2000 622947 *kxkk*k**x34641 64212 7***k%k**k*k]1819 17 THkkkk%0 1 2000 Bl # A
565 360 2000 62294 7Hkxdx4kk] 1223 6421 27*%k4x4k%]1 838 138skskokkk3 2 2000 B & A
566 68 2000 622947 **k**x****x99596 64212 7***kk*%k*%k]1830 18 1kkkkk67 2000 IR
567 72 1000 622947 **k**k****43436 64212 7*k*kkkk*%k] 839 181%¥kkkk%16 1000 AL
568 60 1000 62294 7*kkx4x*04619 642127 *%k4k4k*1837 189 kkkkk( 1 1000 BIIA




569 | TG 56 N 1000 622947 #**kk¥*k%0417 1 642127 *%*¥x¥k*]1815 181 #kkkx%9 1 1000 IR
570 | Z %W 115 N 1000 622947 *kkkkk*x50217 64212 7*k*kkk%k*%k]1835 18 1kkkk*48 1000 IR
571 | b= 60 J 1000 62294 Tx*kkkkk 21613 64212 Tskkkkk4kk] §32 138kkkokk]1 4 1000 ERRE
572 | A& 85 N 1000 622947 *kkkk*k*x4 2466 64212 7*k*kkkkkk]1 81X 132%kkkk*1773 1000 IR
573 | @B F 14 1000 622947 ****kx*x*k88165 642127 *%*k**x4k*1858 138kkkk%20 1000 F A
574 | =% 53 v 1000 622947 *xskkxxk*04668 642127 Hxskkkkk* 186X 184skxx%*89 1000 M
575 | #IxR 170 J 2000 62294 7 *¥¥¥44kx(8 746 6421 2Tkkkk*¥¥%]818 182%kkk4k43 2000 ey
576 | #F# 75 N 1000 622947 **kkx**k%k19998 640324*%*k**xkk*1815 188kkkk*26 1000 F A
577 | #ZXHE 170 N 2000 622947 xkxxkk*x(2230 640324 *%*4x4k%]1 812 138kkkek k37 2000 F A
578 | #&x&F 150 v 1000 622947 xkxk¥**x50781 640324%k*kkkkk*k]1814 155%kk*kx%80 1000 *F A
579 | #EBA 200 1000 62294 Tx*kkkkx 19470 640324%kkk*4k%k]1 813 138kkkkkk33 1000 H M
580 | Z/# | 13 1500 | 62294 7%kkkkikx20269 64032 4%HkK3kkk]1 90X 157 #kkok4k89 1500 FM
581 | & < 15 1500 622947 *kkkk**x(1109 640324%k*kk**k**k]1830 138%kkkk*81 1500 *F A
582 | H&R= 30 J 1000 622947 4444444492355 64212 T#******%181X 139tttk 4 1000 A
583 | #Hak 37 N 1000 622947 **k**k****x64096 642127 *¥*F*k¥k*x]1 87X 138#kkkk*58 1000 B A
584 | ZFEIL 40 N 1000 622947 #***x4**¥66893 642127 *%*4k4k*1812 138kkkk%33 1000 FBA
585 | & | 105 v 1000 622947 +xkkxxk+03678 642127 *xkkxkkx1853 139k *24 1000 &N
586 | 1 E#k 200 N 1000 622947 *kkk**k*x32736 640324 %**kkk*k*%k]1835 138%kkkk%k34 1000 FE A
587 | #RI 208 v 1000 622947 Hxkkkxk%9967 1 642127 Hxkkxkk* 1856 155%kxkk*35 1000 FER
588 | &% 530 1500 622947 *xkkxxk+60810 640324 %kkkxkk*1819 18 1kxskk*05 1500 OEAR
589 | #HE 3 50 1000 622947 *kkk**k*x(04698 64212 7***kkk%k*%k]1813 152%kkk*k*65 1000 o EA
590 | =& 56 v 1500 62294 Takxkkrk k68678 64212 THkskkrckx 1835 130%3kxx%88 1500 I A
591 | EI&FX 240 v 1500 622947 *xkkxxk*58129 642127 *kkkxkk%1826 138kkkkkx3 1 1500 I EA
592 ¥ 9 55 v 1000 622947 **x*k**k*x8037 1 640324%k*kkkkkk]1814 138%kkkk%k92 1000 o ER
593 | HER 80 1000 | 62294 7Hxkkkkrkk07406 640324 %kkkkkkx 1833 155%xkkx%89 1000 I EA




594 | W ¥ 3 260 v 1000 622947 +xkkxxk+06812 640324%xkkkkx1811 152k k% *68 1000 I EA
595 BT 150 N 1000 622947 **kk**k**x6537 1 64212 7*k*k%*%*%k]1850 138%kkkkk57 1000 I ER
596 | Z=/NE 187 v 1000 62294 T Hxkkkxk4937 04 640300%3kkxkkx0427 150%kHkk*49 1000 I A
597 | B EBE 150 N 1000 62294 T *¥¥¥45kx5883(0 6421 2Tkkk*¥¥4%1816 15 1kk*%%%99 1000 O EM
598 | B¥ 4 110 v 1000 622947 Hxkokkk*29357 640324 %¥kkxkokx 1842 18Taoksokok*13 1000 I A
599 | AANE 130 v 1000 622947 **skkxxk*66269 642127 *xkkxskokx 1822 138skkkskok kT3 1000 I EA
600 | RES 37 1000 62294 Tkkkkkkkx 15497 642127 kkk%4x%08 13 1524kkkkx37 1000 H A
601 | RIEH 55 1000 622947 Hxkokxxk*89435 642127 *¥kkxkkx0818 138skksokok k52 1000 HEA
602 | TEF 70 v 1000 62294 THkkokxxx%81881 64212 THkkkxkkk1815 138skkxkk*69 1000 E:RCLE
603 | R{He 45 J 1000 622947+ F4kkk4%1 7862 64212 7#****xx%093 1 180%skkkokk86 1000 HWA
604 | 7#E#H 260 N 1000 62294 7#*x*kx4x%00310 640324*%*k**x4k*1855 176%%k%k%22 1000 F—A
605 | ExA& 4 12 v 1000 62294 T*3kkkxxx19457 642127 *kkxkkx1829 152s%¥#kk*58 1000 F—H
606 | HERE 4 1000 622947 ++4kk44%85655 64212 T#¥*k%%%%]1833 138skkokokk20) 1000 F—AH
607 | ZXE 427 v 1500 | 62294 74kkkokrk*00054 642127 Hkkkrkkx 1815 138k k04 1500 F—H
608 &5 220 N 2000 622947 ***¥*k¥*k*5389 1 640324 *%*¥x4k*] 835 139%kk4x*65 2000 F—A
609 | TH3% 36 v 1000 62294 Txkkkxx%22919 6421 2 THkkkkrkk 1 82X 136%kkk%x00 1000 F—H
610 | 7 R2% 43 N 1000 622947 H*kkx*x*15703 642127 *¥*xF*¥**x] 856 1393kkkk444 1000 F—A
611 & % 470 v 2000 62294 T +xkkkxk%05111 640324%kkkkkk% 183X 134skkkkk%32 2000 = —H
612 | TXR 5 1000 622947 ****kx*x k06888 642127 *%*k*xkk*1833 159%kk***k86 1000 F—A




